

$$c) \lim_{x \rightarrow 1} \frac{\frac{1}{x+2} - \frac{1}{3}}{x-1} = \lim_{x \rightarrow 1} \frac{\cancel{3(x+2)} \left( \frac{1}{x+2} - \frac{1}{3} \right)}{3(x+2)(x-1)} = \lim_{x \rightarrow 1} \frac{\cancel{3(x+2)} \cdot \frac{3 - (x+2)}{3(x+2)}}{3(x+2)(x-1)}$$

$$= \lim_{x \rightarrow 1} \frac{3 - (x+2)}{3(x+2)(x-1)} = \lim_{x \rightarrow 1} \frac{-(x-1)}{3(x+2)(x-1)} = \lim_{x \rightarrow 1} \frac{-1}{3(x+2)}$$

$$= -1/9 //$$

$$d) \lim_{x \rightarrow 0} \frac{\sin 3x}{4x} = \lim_{x \rightarrow 0} \frac{\sin \frac{3x}{3x} \cdot 3x}{4x} = \left[ \lim_{u \rightarrow 0} \frac{\sin u}{u} = 1 \right]$$

$$= \lim_{x \rightarrow 0} \frac{1 \cdot 3x}{4x} = \frac{3}{4} //$$

$$4) a) f'(x) = 2x \cos 5x + x^2 (-\sin 5x) \cdot 5 = 2x \cdot \cos 5x - 5x^2 \cdot \sin 5x$$

$$b) f'(x) = \frac{3 \cos 3x (x^2+1) - \sin 3x (2x)}{(x^2+1)^2}$$

$$c) f'(x) = 4 \cdot \left(-\frac{1}{2}\right) (2x^2-2)^{(-3/2)} \cdot 4x = \frac{-8x}{(2x^2-2)^{3/2}}$$

$$d) f'(x) = \frac{1}{\cos^2(e^{-x})} \cdot (-e^{-x})$$

$$5) f(x) = |2x+4|$$

$$|u| = \begin{cases} -u, & u < 0 \\ u, & u > 0 \end{cases} \Rightarrow |2h| = \begin{cases} -2h, & 2h < 0 \\ 2h, & 2h > 0 \end{cases}$$

$$\lim_{h \rightarrow 0^-} \frac{f(-2+h) - f(-2)}{h} = \lim_{h \rightarrow 0^-} \frac{|2(-2+h)+4| - |2 \cdot (-2)+4|}{h}$$

$$= \lim_{h \rightarrow 0^-} \frac{|-4+2h+4| - |-4+4|}{h} = \lim_{h \rightarrow 0^-} \frac{|2h|}{h} = \frac{-2h}{h} = -2$$

Dipek toproften

$$\lim_{h \rightarrow 0^+} \frac{f(-2+h) - f(-2)}{h} = \lim_{h \rightarrow 0^+} \frac{|2h|}{h} = \frac{2h}{h} = 2$$

$$\lim_{h \rightarrow 0^-} \frac{f(-2+h) - f(-2)}{h} \neq \lim_{h \rightarrow 0^+} \frac{f(-2+h) - f(-2)}{h}$$

Bu y\u00fcz\u00fcnden  $f'(-2)$  de  $f(x)$  fonk. t\u00fcrevi yoktur.